
Paper: 1MA1/3F 

Question Answer Mark Mark scheme Additional guidance  

1  23

100
 

 

B1 oe 

 

 

2  8 B1 cao 

 

 

3  tens or 30 B1 for (3) tens or 30 or thirty 

 

Condone incorrect spelling provided 

the intention is clear 

 

4  3a B1 for 3a Allow a3 

 

5  1

4
  

1

2
  

2

3
 

B1 for correct order 

 

 

Accept any form 

Accept 0.6 or 0.66 or 0.67 or 0.7  

or 60% or 66% or 67% or 70%  

or better for 
2

3
 

 

6 (a) 32 P1 for process to find length, eg 8 × 4 

 

 

   A1 cao 

 

 

 (b) 2.5 cm P1 for process to find length, eg 10 ÷ 4 (= 2.5) oe eg 1 + 1 + 1 ÷ 2 (= 2.5) 

 

 

   A1 for 2.5 cm oe eg 25 mm, 0.025 m 

 

Must include correct units 

7 (a) Bus B1 cao 

 

 

 (b) 5 B1 cao 

 

 

 

 

 

 


